GEOGRAPHY SSC-I

Time allowed: 2:40 Hours

\\

Total Marks Sections B and C: 8¢

NOTE: Answer any twelve parts from Section ‘B’ and any three questions from Section ‘C’ on the separately

provided answer book. Write your answers neatly and legibly.

Q.2

Wote:
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Q.4
Q.5
Q.8

SECTION — B {Marks 36

Write brief answers of any TWELVE parts.
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(xvIH)

Bttempt any THREE questions. All guestions carry egual marks.

What is physical geography?

Write names of the branches of human geography.
What is meant by population density?

Write names of the densely populated areas of the world,
What is meant by settlement?

Write any three social problems of urban seftlements.

Name three river valleys, where earliest seitlements were formed.

What is meant by urban morphology?

Differentiate batween a town and a city.

Write names of the types of rural settlements, according to size.
What is physical environiment?

Suggest three measures to control poflution.

Eniist names of the biotic components of environment

What is a map?

Write a short note on conventional signs.

What is scale?

What are cardinal pcints?

Entist three methods of determining the North.

SECTION = C (Marks 24)

Explain the scope and importance of geography.

Describe the fectors affecting population distribution.

Write 2 detailed note cn the world environmental problems.

Describe the type of maps.
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(12 x 3 = 36)

(3 x 8= 24}
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